THE REPRODUCTIVE SYSTEM

%+ MATCH WITH ARROWS

FEMALE OVARIES
MALE SPERM

FEMALE TESTICLES |
MALE OVLLES s

%+ DRAG AND DROP NUMBERS TO ORDER THESE STAGES IN REPRODLCTION

i|[g] |8

| PREGNANCY
[ ] CHILDBIRTH
|| CONCEPTION

%% COMPLETE THE TEXT WITH THE CORRECT WORD.

WHEN A SPERM FROM A MAN FERTILISES AN OVULE FROM A WOMAN THE FERTILISED
OVLULE GOES TO THE WOMAN ‘ AND BECOMES AN

THE EMBRYO GROWS BIGGER AND BIGGER AND BECOMES A

%= HOW LONG DOES IT TAKE PREGNANCY? CHOOSE THE RIGHT ONE

—
THREE MONTHS }} ™

NINE MONTHS e _}@
ONE YEAR
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